HENEFY 12

(HALEENIHE ->2HY)

F M8 ZE( )
(1) 8XH+4X4 (7) BX(9—16+4)
(2) (9X9—-9)+2 @ (10—2)X5+13
3) 4X(7+20-+5) @ 9X(5—2)+3
4) 4X(5+5H)+4 (10) (6XT+2)+2
(5) 8+6+3—3 (1) 3+6X(10—-3)
6) 8+(10—5H)X9 (12) 3XT—4-+-2
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HENEFY 12

(HALEENIHE ->2HY)

F M &Zui( )

(1) 8XHB+4X4 (7 B5X(9—16-+4)
= 40+16 = 5X(9-4)
= 56 = 5X5

= 25
2) (9X9-9)+2 ® (10—2)X5+13
= (81—9)+2 = 8X5+13
= T72+2 = 40+13
= 36 = 53
3) 4X(7+20+5) @ 9X(5—2)+3
= 4X(7+4) = gX3+3
= 4X | | = 27+3
= 44 =9
4) 4X(5+5)+4 (10) (6XT+2)+2
= 4X | 0=4 = (42+2)+2
= 404 = 442
=10 = 22
(5) 8+6+3—3 (1) 3+6X(10—-3)
= 8+2—3 = 3+6X7
= 10—-3 = 3+42
=17 = 45
6) 8+(10—5H)X9 (12) 3XT—4+2
= 8+5XY9 =21-2
= 8+45 = 19

=53
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